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General Instructions :

(1)  All questions are compulsory. Marks allotted to each question are given against it.
(i) Innumerical questions, give all the steps of calculation,
(iii) Give relevant answers to the questions.

(iv) Give chemical equations, wherever necessary,

e
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. L of th; .
1. Four alternatives arc given in each part his question. Select the correct alternative

and write it in your answer-book.
(2) The crystal system having dimensio"> @bz ¢ and o = p=y=90°is-
(A) Hexagonal (B) Monoclinic

(C) Triclinic (D) Orthorhombic

(b) The concentration unit independent of temperature is -

(A) Normality (B) Mass-volume percentage

(C) Molality (D) Molarity

(c) The unit of velocity constant for first order reactions is —
(A) mol! Ls™! (B) molL2s’"!

€y s (D) “mol L™ 57!

(d) Benzyl alcohol is obtaingdfrom benzaldehyde by —

K\Q
(A) Aldol Cﬂnden@n (B) Cannizaro’s reaction
NSRS .
(C) Gancrrr@-lioch reaction (D) Clemmensen reduction
$

(e) Hinsberg’s reagentis —

(A) Benzene sulphonic acid (B) Benzene sulphonyl chloride

(C) Benzene sulphonamide (D) Phenyl isocyanide

(1)  Which of the following base is not present in DNA 9

(A) Adenine (3)  Thymine

(C) Uracil (1M Guanine
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2. (a) Whatis Schottky defect 2 What is the effect of the presence of Schottky defect on

the density of lattice ? 1+1

(b) Define Osmotic pressure. How will you show that.Osmotic pressure is a

colligative property ? 1+1

(¢} Explain Kohlrausch’s law of independent migration of ions. Mention one

application of this law. 1+1
S
(d) Define Lyophilic anQ%g‘Lyophobic colloids with examples. Why is Lyophobic
colloids easily CQ ated ? | 1+1
@$
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H,0 is a liquid while H,8 is a gas. Why ?
Write the formulac of the following coordination compounds on the basis of

LUP.A.C. rules -

(i)  Dichloridobis (cthane -1, 2-diaminc) cobalt (I1I) chloride.

(ii) Iron (II) hexacyanidoferrate (I1). 1+1

Write a short note on primary and secondary structures of proteins. 1+1

298 K arqa R FfeRad st 3 fany Yo weitascor Raftag -
Ni[Ni?* (0.01 M)[| Cu?*(0.1M) cy
fe ST At T emf (E,,) 0.59 V 3 ) 3wt & b emf (Ecey, ) 31 AT HIRAT |

1+2
(i) e T U wiea feorft ferfae |
(i) ‘@rg  fe o7 Rrdet ¥ W onaTiE B & 1 38 W fewefi
ﬁﬁfﬂl S’Q\Q 1% + 1%
¥
X : . .
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ﬂ%:rrsgti%waﬁmﬁmaﬁamﬁ%?' 2+1

HTaTeTsedl % D qon L el @ 319 w1 @9 € 7 DO ot DR & e
A 9913¢T | 2+1

At 298 K write Nernst equation for the following cell -
Ni|NiZ* (0.01 M)]| Cu*(0.1M)] Cu

If the emf of the above cell (E ;) 15 0.59 V then calculate the standard emf of the

cell (E:cll )- 1+2
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(b) (i) Writea short note on Coagulatio n

(ii) “‘Action of soap is based . e emulsification and micelle formation,’

Comment on it. 12+1%

(c) Write a short note on Gabrie]’g phthalimidc synthesis. Why is Gabriel’s

phthalimide synthesis preferred for gymhesiZing the primary amines ? 2+1

(d) What do you mean by D angd [ configurations of carbohydrates. Draw the
structural formula of D-Glucose and D.Fructose. 2+1
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(i) Zn?* EE0 TR g & st Ni2* e@v o g § i o 242
(@) Ivmesde dfidl § sve & waey 1 afod) srfvuren s ) wwsmg 4
347(CF) [60f12] ¥-7)

Download all NOTES and PAPERS at StudentSuvidha.com


http://studentsuvidha.com/
http://studentsuvidha.com/

5. (a) The concentration of the solution of 8lucoge in water is 10% (w/w). If the density

of this solution is 1.20 g mL™!, then Calcyjate —
(i) Molality

(i) Molarity

(iii) Mole fraction of each component in solution 1+1+2

(b) (i) What is halfilife for a chemical reaction ? Show that the half-life for a first

order reaction is independent of the initial concentration of the reactants.

(i) The velocity constant for the first order reaction is 6.93 x 10-3 min-!.

Calculate the half-life of this reaction. 341

(¢) (i) Which one of the ions Fe* 4 pe3* is more paramagnetic-and why ?

(ii) Zn?* salts are colourless while Nj2* salts are coloured. Why ? 242

(d) Explain Werner’s postulates related to the bonding in-coordination compounds. 4
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Describe Ostwald's process for the industrial manufacture of nitric acid. Write the

balanced chemical equatians of the following reactions :
qg\\@ g
(i) Zinc metal Qs’. with conc: HNO,.

QQ

Q
(ii) lodine %ncts with conc. HNO,. 3423

OR

(i)  Give reason that bleaching action of chlorine is permanent while that of SO,

is temporary.

(i) Explain why NH, is basic in nature,

(iii) What happens when Sulphur dioxide reacts with acidic  potasg;
ssium
permanganate ? Write balanced chemical equation for this feaction. 24 5
- +l
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(b) (i) Write the mechanism of dehydration of ethanol.
(ii) Write short notes on the following :
(A)  Reimer — Tiemann Reaction
(B) Kolbe’s Reaction

(C)  Williamson Ether synthesis

2+3
OR
How will you obtain the following :
(i)  Diethyl ether from Sodium ethoxide. 2
l(ii) Benzyl alcohol from Benzyl chleride. 14
(iii) Propan-1-ol from Ethyl Magnesium bromide. 14

7. (%) TR H UH-HE au f- 3 iR wheenes sfifEasd ) Beanfaty @
aof iR | N
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(B) fwfen srfafern
@) Frfafed wodfa feoft fafe - 1+1+1+2
(i) 3erd sfufEa
(i) 7RI ~ & Afifrar
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7. (a) Discuss the mechanism of unimolecular and bimolecular nucleophilic substitution

reactions in haloalkanes. 5
OR

Write short notes on the following : . 2% +24=5

K\Q
(A) Wurtz-Fittigreaction

\Q‘G

(B) F ittig’&@%dion

(b) Write short notes on the following : 1+1+1+2
(i) Etard reaction
(ii) Gattermann-Koch reaction
(i) Cannizaro’s reaction
(iv) Aldol condensation

OR

347(CF) [1oerz) (¥-7)

Download all NOTES and PAPERS at StudentSuvidha.com


http://studentsuvidha.com/
http://studentsuvidha.com/

What happens, when — (Give chemical €quations only) 1+2+2=5
(i)  Acetaldehyde reacts with Tollen’s reagent,
(i) Formaldehyde reacts with NaOH-

(iii) Benzamide undergoes acidic hydrolysis.
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